 
B.Com.(A&F) DEGREE EXAMINATION, APRIL 2018.
III YEAR  VI SEMESTER
Core Major- Paper XVIII  -  ADVANCED COST ACCOUNTING

Time : 3 Hours													Max. Marks : 75
SECTION A – (10 × 2 = 20 marks)
(Q.No. 1-12)Answer any TEN  questions


1. What are the elements of cost?
2. What is contract costing?
3. Define process costing.
4. What do you mean by operating costing?
5. What do you understand by the term absorption costing.
6. Calculate EBQ from the following :
Annual Demand – 2000 units setup cost per batch – `10 cist if carrying inventory per unit - `1 
7. Ascertain the amount of work certified in a contract from the data given below:
Cash received          ` 360000
Retention money 10%
8. Find the cost of Process A from the following details :
Raw materials        	      `22000
Wages                  	     `10800
Chargeable expenses         `3600
Overhead 80% of wages
9. Ascertain number of units of abnormal loss from the following :
Input of material : 1000 units
Normal loss : 10%
Output : 800 units
10. Calculate the total kilometers from the following:
Number of buses : 4
Number of days operated in a month : 30 distance travelled : 100 km (one side)
Number of trips per day : 2.
11.  Find out marginal cost from the following details :
Direct materials          ` 80,000
Direct wages               ` 32,000
Direct Expenses            `11000
Variable overhead          ` 5600
12. Find P/V ratio
Fixed expenses        ` 15,000
Break even sales      ` 50,000
 (
[P.T.O.]
)
SECTION B – (5 × 5 = 25 marks)
(Q.No. 13-19)Answer any FIVE questions
13. Distinguish between direct expenses and indirect expenses. What do you understand by overhead.
14. Explain the term marginal costing. What are the characteristics and assumptions of marginal costing?
15. From the following, prepare a cost sheet for the month of January.
          Stock of raw materials on 1st January.
          Stock of raw materials on 1st January 	25,000
Stock of raw materials on 31st January 	26,200
Purchase of raw materials		21900
 Carriage on purchases		  1100
Sale of finished goods		72300
Direct wages		17200
Non-productive wages		    800
Direct expenses		  1200
Factory overheads		  8300
Administrative overheads		  3200
Selling overheads		  4200
16. Reena Bros undertook a building construction contract. The contract commenced on 1.1.2013 and         
    completed on 30.6.2013. he incurred the following expenses:
             Materials consumed		16,750
             Materials in hand on 30.6.2013	 	 4750
            Wages		14250
            Direct expenses		72600
            Plant purchased 		36,000
    Provide depreciation @ 10% p.a on plant. Indirect expenses amount tp 20% on wages. Prepare a contract  
    a /c and contractee’s a/c in the books of contractor.
17.  Mr. Ram kumar produces the product Tom which goes through three distinct processes. The following   
     information is availanble from hiw accounts :
	Items
	Process I
	Process II
	Process III

	Direct materials
	10000
	6000
	4000

	Direct wages
	4000
	2000
	2000

	Direct expenses
	8000
	4000
	2000


Indirect expenses incurred are ` 8000 which are recovered on the basis of 100% of direct wages. You are   required to prepare process accounts.
18. Mr. P runs a tempo service in city. He furnishes you with the following data and wants you to compute the 
    cost per running km.
	
	`

	Cost of vehicle
	23000

	Road licence fee per annum
	750

	Supervisor’s salary per annum
	1800

	Driver’s wage per hour
	4

	Cost of fuel per litre
	6.50

	Repairs and maintenance per km
	1.50

	Tyre allocation per km
	2.00

	Garage rent per annum
	3200

	Annual insurance premium
	1200









            


            Km run per litre   6
            Km run during the year  12000
            Estimated life of vehicle in km   1,00,000
            The vehicle runs 20 km per hour on an average.

19.  You are given the following data for the year 2013 of X company :
	
	`
	

	Variable cost
	600000
	60%

	Fixed cost
	300000
	30%

	Net profit
	100000
	10%

	
	1000000
	100%


              Find out 
(i) The PV ratio 
(ii)  The B.E.P
(iii)  The margin of safety ratio.

SECTION C – (2 × 15 = 30 marks)
(Q.No. 20-23)Answer any TWO questions

20. The following information is related in respect of a contract for the year ended 31.12. 2013 undertaken by 
     Birla constructions Ltd:
	
	`

	Materials
	310000

	Plant 
	130000

	Wages
	190000

	Overheads
	40000

	Outstanding overheads on 31.12.13
	19000

	Materials in hand on 31.12.13
	31000

	Cost of work uncertified on 31.12.13
	13000

	Cash received upto 31.12.13 which is 75% of work certified
	375000

	Contract price
	1300000

	Value of plant on 31.12.13
	95000


       
      Find the above particulars, you have to prepare:
(a) Contract a/c 
(b) Work in progress a/c
(c) Contractee’s a/c
(d) Show the work in progress in balance sheet on 31. 12.13.

21. The following figures show the cost of two processes of manufacture. The production from process II is 
     passed to finished stock account.

	
	Process I
	Process II

	Direct materials
	2000
	3020

	Direct wages
	3500
	4226

	Production overheads
	1500
	2000



1000 units are introduced at a cost of `5 per unit. Other information is as follows:

	
	Normal loss
	Actual output

	Process I
	10% of input
	920 units

	Process II
	5 % of input
	870 units


         
The wastage realizes ` 3 per unit in process I and `5 per unit in process II. Prepare process accounts.
 (
[P.T.O.]
)
	

22.  Mr. X owns a bus which runs according to the following schedule:
(i) Delhi to Chandigarh and back the same day :
Distance covered 		150km one way
No of days run each month 8
Seating capacity occupied 90%
(ii) Delhi to Agra and back, the same day:
Distance covered 120km oneway
No of days run each month 10
Seating capacity occupied 85%
Distance covered 270 km one way
No of days run each month 6
Seating capacity occupied 100%
(iii) Following are the other details :
Cost of the bus					6,00,000
Salary of the driver				          2800 pm
Salary of the conductor			          2200 pm
Salary of the part time accountant	            200 pm
Insurance of the bus 				4800 p.a
Diesel consumption 4km per litre at 	`6 per litre
Road tax 					1500 p.a
Lubricant oil					`10 per 100 km
Permit fee					315pm
Repairs and maintenance			1000pm
Depreciation of the  bus			20% p.a
Seating capacity of the bus		50 persons
Paasenger tax is 20% of the total takings. Calculate the bus fare to be charged from each passenger to earn a profit of 30% on total takings. The fares are to be included per passenger for the journeys.
(i) Delhi to Chandigarh
(ii) Delhi to Agra 
(iii) [bookmark: _GoBack]Delhi to Jaipur.
23. Due to industrial depression, a plant is running at present at 50% of its capacity. The following details are 
    available. Cost of production per unit.
	
	`
	
	

	Direct materials
	2
	Production per month
	20000 units

	Direct labour
	1
	Total cost of production
	` 160000

	Variable overhead
	3
	
	

	Fixed overhead
	2
	Price
	140000

	
	8
	loss
	20000



                                                         			                                UAF/CT/6018 
			                        	                                                                                                 
An exporter offers to buy 5000 units per month at the rate of `6.50 per unit and the company hesitates to accept the offer fearing increase of further operating losses. Advise, whether the company should accept or decline this offer.
1



